B RISELERER SRR B TR A — > 2 7 7 T e = RS &

(L ADER) BT ()
B R3FH | R3RE BB W R
1 =% 580,000| 580,000 0[58277 % 10,000H 580,000
2 ®hh& 100,000/ 100,000 O| BAR—V & 100,000
3 WENA 65,000 0| A 65,000 0
4 FE 15 9 A 6| B34 T HEEIFLR 0
5 HEke 794,357 794,357 O|R2AkI%E422,624M . B4 (BERZEEET)371,733H 794,357
6 XiEs 0| 140,000|  140,000|ff R G HHUE AR — V77 Bk B 140,000
& # | 1,539,372| 1,614,366 74,994
(KHDE) BEAT (1)
™ B RIFH | RMRE HER W &R
1 # & 570,000)  239,000| A 331,000(SCSHHMEZ: AT (10,000 X 28FF]) 20,000
AT A IF—#AT (15,0009 X5.A) 75,000
H A (24,0001 X622 5) 144,000
2 % B 291,000 63,677| A 227,323 |SCSHHES AT 1,702
BERE (23, %) 42,735
iR 1,332
TASBMERE 17,908
3 fEER 70,000 20,490| A 49,510| % EEBRE 14,070
SCSHHER =% 6,420
4 WEE&SE| 110,000 31,095 A 78,905\ 2&y 7 H UK (KRNI T7 Rt AEE) 13,676
RFw7 B (SCSHHER) 9,696
aaFe i A b 1,423
BHEHMAR 6,300
5 E{FEE 50,000 44,726 A 5274 @I -HHEE 44,726
6 FIRIEAZ 20,000 0| A 20,000 0
7 O 183,000 354,810  171,810|7 myR3isE#% (4k: 41,000/, F2#:45,000M, &:47,000M) 133,000
BNk 13,000
XES 190,000
A FHEr 18,810
8 FiHE 245,372 0| A 245,372 _ 0
& E | 1,539,372|  753,798| A 785,574

(IR ADER) 1,614,366l — (GZHDER) 753,798 = (Huké) 860,568M

[BEE#HE]

AM4A4E5H 200 (&) REBRASEBHARE EBREHNKBEICHV T, BARBSEHE X
By s 7T ERRBRFEREILR VOB &, FHIRERERERS 2 EEICEE LILER,
BEZABESA TV L2 RENTZLET,

%ﬂ%#\,*%\% ;;é;‘
B ¥ sm%ﬁ'ié\\f )




